
定積分 6分の 1公式∫ ▲

●
(x−●)(x−▲) dx = − 1

6
(▲−●)3
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6分の 1公式 例題 1∫ 3

−1

(x+1)(x−3) dx =

∫ 3

−1

(
x−(−1)

)
(x−3) dx

= − 1
6

(
3−(−1)

)3

= − 1
6
· 43

= − 32
3

答
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6分の 1公式 例題 2∫ 2

−3

(x2+x−6) dx =

∫ 2

−3

(x+3)(x−2) dx

=

∫ 2

−3

(
x−(−3)

)
(x−2) dx

= − 1
6

(
2−(−3)

)3

= − 1
6
·53 = − 125

6
答
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6分の 1公式 例題 3∫ 1
2

−1

(2x2+x−1) dx を求めなさい。

2x2+x−1 = 0 とおくと
(2x−1)(x+1) = 0

x = 1
2
,−1 なので
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6分の 1公式 例題 3∫ 1
2

−1

(2x2+x−1) dx

=

∫ 1
2

−1

2 (x+1)
(
x− 1

2

)
dx

= 2

∫ 1
2

−1

(
x−(−1)

)(
x− 1

2

)
dx
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6分の 1公式 例題 3

= 2

∫ 1
2

−1

(
x−(−1)

)(
x− 1

2

)
dx

= 2·− 1
6

(
1
2
−(−1)

)3

= − 1
3

(
3
2

)3

= − 9
8

答
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6分の 1公式 例題 4∫ 2+
√
3

2−
√
3

(x2−4x+1) dx を求めなさい。

x2−4x+1 = 0 とおいて、解の公式で解く。

x =
−(−4)

√
(−4)2−4·1·1
2·1

= 4
√
12

2
= 4 2

√
3

2
= 2

√
3 一旦

停止

gbb60166 プレ高数学科



6分の 1公式 例題 4

だから
∫ 2+

√
3

2−
√
3

(x2−4x+1) dx

=

∫ 2+
√
3

2−
√
3

(
x−(2−

√
3)

)(
x−(2+

√
3)
)
dx

= − 1
6

(
(2+

√
3)−(2−

√
3)

)3
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6分の 1公式 例題 4

= − 1
6

(
(2+

√
3)−(2−

√
3)

)3

= − 1
6

(
2
√
3
)3

= − 1
6
·23·

(√
3
)3

= − 1
6
· 8 ·3

√
3 = −4

√
3 答
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